public interface Human

 {public final int INCHESINFOOT = 12;

  public String getName();

  public int getHeight();

  public String getGender();
  public String getSound();
}
public class Male implements Human
{

private String name;

private int height;

public Male(String 
   {name = na;

    height= he;

    gender = "Male";

   }

  public int getHeight()

    {return height;

    }

  public String getGender()

   {return gender;

    }

    public String getName()

     {return name;

        }

  public String getSound()

   {return "Bark, Bark";

    }

}
public class Female implements Human

 {private int height;

  private String gender;

  private String name;

  public Female(String na, int he)

   {name = na;

    height= he;

    gender = "Female";

   }

  public int getHeight()

    {return height;

    }

  public String getGender()

   {return gender;

    }

    public String getName()

     {return name;

        }

  public String getSound()

   { return "Chirp, Chirp";

    }

}
import java.uti.*;

public class main
 {

     public static void main(String args[])

      {  Female nikki = new Female("Nikki",60);

         Male josh = new Male("Joshua",65);

         Human san = new Male("San",47);

         ArrayList<Human> ar = new ArrayList<Human>();
     for ( Human n : ar) 

          System.out.println(n.getName() + “ “ + n.getSound());
        }

    }

